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1 |SB1001 | 98B |SB501 TETsR L3 7%20.6 4.8 [CXRNEE 43
2 |SB1001 | 98B |SUSO1 | LEfgs EOE 11 14 [CAWEE 2
3 |SB1001 | 98B |SUSO1 | thmgk FEE %1.2 6.3 ICAVWVEEE 1
4 |SB1001 | 98B |SUS01 | *Emg BEOE % IS EE 22
5 |SUT001 | 98B |SU501 | tAfss = ®7.1 14 ZEEE 1
6 |SU1001 | 98B |SB501 TEmeR NEE #£9.2 7%9.1 [CAWNEE 5
7 |SUT001 | 98B |SUS01 | tkmgs = 7%9.6 4 ISR E 15
8 |SU1001 | 98B |SUS01 | tEhgs MRS #£6.6 6.8 3.8 =) 8
9 |SUT001 | 98B |SB501 TEmeR z 12.3 14.8 36
10 |SD1007 | 98B |SD504 | LGhfgs BNE #15.7 |5%£30.2 KB & 65
11 |SD1006 | 98B |SD501 | *hfigs = #17.0 %41 rBe 6
12 |SD1006 | 98B |SD501 | *hfzs BHE 4.4 #12.4 |[kEts 3
13 |SD1008 | 98B |SD502 | Lhfizgs z #16.8 |5%2.6 ICRNVEEE 1
14 |SD1008 | 98B |SD502 | *hfigs = #13.0 |#&S5.1 =] 1
15 |SD1008 | 98B |SD502 | *hfzs =t #15.2  |5%6.1 EEEE 2
16 |SD1008 | 98B |SD502 | Lhfgs = #15.0 |5%3.2 XZEEE 1
17 |SD1008 | 98B |SD502 | *hfigs D (#14.6  5R3.7 RBEICAWVEE 6
18 |SD1008 | 98B |SD502 | *hfzs =fPFE  (#14.0  |5%5.0 EEEE 1
19 |SD1008 | 98B |SD502 | L hfgs = 7%8.1 KB & 8
20 |SD1008 | 98B |SD502 | tkmgs = 7%8.6 =] 12
21 |SD1008 | 98B |SD502 | tkmgs 10 7%1.8 #10.4 | REERE 1
22 |SD1001 | 98A |SD504 | tkmgs =t #19.6 |5%3.8 [CANRGE 1
23 |SD1001 | 98A |SD504 | tkmgs =t 7%9.9 12.6 ISR E 7
24 |SD1001 | 98A |SD504 | tEmgs 10 7%4.6 [CAVNEE 1
25 |SD1001 | 98A |SD504 | tEmgs = 7%£8.7 #11.6 |REE 6
26 |SD1001 | 98A |SD504 | tkmgs MRS 10 %13.3 [CAWEE 32
27 |SD1003 | 98A |SD501 | tkmgs FM?  (#10.2 5.2 #4.0 REE 2
28 |SK1072 | 98C|SK514 |EE& BiA? #11.8 |5%3.5 ISR E 3
29 |SK1072 | 98C |SK514 | tkmgs = #17.6  |5%2.9 ICX VB 1
30 |SK1070 | 98C|SK515 |EEsH M5B %1.2 #10.8 |HEE 1
31 |SK1070 | 98C|SK515 | tkmgs L3 7%2.0 RG] 1
32 |SD1013 | 98C |SD503 | LEfz = 7%3.3 Be 2
33 |SD1013 | 98C |SD503 | tEm&s =? #13.6 |#%3.1 ICAVNVEEE 1
34 |SD1014 | 98C|SD504 | tkmgs = #13.8 |5%3.8 EEEE 3
35|SD1014 | 98B |SD504 | tkmgs = %8.4 ZEEE 1
36 |SD1017 | 98C|SD507 |EEsH W& #14.0 |5£2.2 IRE&a 1
37 |SD1017 | 98C|SD507 |EE& HiA #14.0 |#%3.4 Bt 3
38 |SD1017 | 98C |SK507 | tEmgs = 2.5 #20.8 |ICRWERE 1
39 |SD1012 | 98C |SD509 |7ZEE# W& #17.8 |5%1.9 =] 1
40 |SK1076 | 98C |SD511 | L hfzgs BNE 7%5.0 8 ICARGE 1
41 BEE 98A #EYTIS | LEHzR = 12.6 %24.1 ICAWERE ?
42 |BEE 98A #EUTIF | LEmzR z #17.8 |#28.6 |7.2 RE®E?EKE 23
43 QEE 98A #EYTIF | LAz z 16.1 32.3 REE 79
44 BEE 98A #EYTIS | LEHzR = 14.4 %22.9 65
45 [ BEE 98A #EUTIF | LEmzR 3 15.8 7%£10.8 ICRWVEEE?IRES | 17
46 BEE 98A #EYTIF | LAz BNE 7%24.7 ISR E 29




48 BEE 98A EYTIS | tEDEs z #16.6  |5%4.1 [CAWERE 5
49 BEE 98A bL>F | LhRR Z #16.4 |5%4.7 ICAWERE 6
50 BEE 98A #EUTIF | LEmzR z #22.0 |#%3.0 ICRWEEE 1
51 | B8E 98A EYTIS | tEDEs z #11.4 |73 IRBEE?EKE 4
52 |AERE 98A #EYTIS | LEHzR Z #16.2 | 5%3.7 ICAWERE 1
53 [BEE 98A #EUTIF | LEmzR z #15.4 |5%4.0 =] 1
54 BEE 98A bL>F | Lhfzs z 14.8 7%4.9 KB &

55 A8 98A #EYTIS | LEHzR BftE? 7%3.9 #6.4 EEE 7
56 BEE 98A #EUTIF | LEmzR =t #12.3 143 18.2 XE& 21
57 BEE 98A EYTIS | tEDEs = 17.5 7%7.4 KB & 9
58 |AERE 98A #EYTIS | LEHzR = ¥%4.5 ICAWERE 2
59 [BEE 98A #EUTIF | LEmzR =t #17.6  |&7.7 ICRWEEE 2
60 | BEE 98A EYTIS | tEDEs = #16.4 |5%6.1 ISR E 18
61 AEE 98A #EYTIS | LEHzR = ¥%4.5 EEREICAMER 2
62 |BEE 98A |1&? TaEng =t #15.6 551 [CAWNEE 7
63 |BEE 98A bL>F | Lhfzs = #13.0 |#%4.4 IS EE 1
64 AEE 98A [#&7 ol i = 7%3.3 ZEEE 1
65 |BEE 98A |1&? TaEng =t 7%4.3 [CAWNEE 1
66 AEE 98A bL>F | Lhfzs = 7%4.5 IREBE 5
67 AEE 98A i = 8.7 #13.8 |IkB& 3
68 |BEE 98A [bL>F | L0 EAFA 7%5.8 #12.8 | Ik#GE 1
69 BEE 98A |1&? LhAzs = 7%10.0 |13.5 K&EE 14
70 AEE 98A #EYTIS | LEHzR = 7%8.7 #13.4 |[kEE 2
71 AEE 98A |1&? TaEng =t %7.3 =] 6
72 DEE 98A EYTIS | tEDEs = 7%8.3 REE 9
73 AEE 98A [#&7 ol i = 7%6.8 =] 6
74 AEE 98A |1&? TaEng =t 7%4.3 13 [CAVNEE 6
75 |AEE 98A bL>F | LhAzs = 7%2.0 #17.0 |kEE 2
76 AEE 98A i = 12.3 15.5 #4.0 =] 62
77 AEE 98A [bL>F | LR NEE #8.4 9.4 4.8 =] 4
78 |ARE 98A EYTIS | tEDEs NEE 8.4 8.8 5.6 CAWEREE 13
79 AEE 98A #EYTIS | LEHzR MRS 8.8 7.9 3.8 [CAWEE 1
80 |BEE 98A #EUTIF | LAmzR NEE 9.4 7.7 [CHRWEEE 1
81 | BEE 98A EYTIS | tEDEs NEE #7.8 7%4.6 ISRV E 1
82 AEE 98A bL>F | LhhR MRS #7.8 7%5.5 IR& 1
83 |BEE 98A |RIFE | L% NEE %7.0 4.4 EREtE 9
84 | AEE 98A bL>F | LhAzs NEE 7%4.1 3 [CHAWEREE 2
85 AEE 98A #EYTIS | LEHzR NEzE #10.0 |#%5.0 ZEEE 2
86 |BEE 98A #EUTIF | LEmzR NEE #7.0 7%5.8 BIRE 3
87 |AEE 98A EYTIS | tEDEs NEE #10.2 |%4.3 BRIk & 6
88 AEE 98A #EYTIS | LEHzR NEzE 5.7 ICAWERE 1
89 |BEE 98A [bL>F | LERE NEE 7%3.2 4.6 [CHRWEEE 4
90 BEE 98A bL>F | Lhfzs z #6.9 7%3.5 IS EE 2
91 AEE 98A bL>F | LhhR MRS #12.0 |5%4.2 ICAWERE 1
92 | BEE 98A #EUTIF | LEmzR 23 #16.0 |#&5.4 =] 7
93 [ BEE 98A |1&? LhAzs z 7%7.4 5 CAWEREE 3




95 |BEE 98A [N F | LEDER f2) 13.8 9.1 LRV EE 23
96 BEE 98A |IBUTIF |EE:H &= 12.4 5.9 K& 7
97 |[B &k 98A |RIFE |EEH wE #14.0 |5 BHEKE 2
98 |BEE 98B |FL>F | Ll E #13.6 |#8.4 ICRWFRBE 6
99 BEE 98B |#&7? ThhgR ] #17.8 %4.1 KBt 1
100/ 28E 98B |FLvF | LEBES = 14 7%4.0 [CRWEE 7
101|888 98B |FL>F | Ll E #17.6  |5%4.4 EERE 3
102'a8E 98B |FLvF | tHAE MRS 11 2.7 EERBE 4
103|28E 98B |FLvF | LEBES L #21.2  |#&4.9 [CRWEE 2
104|888 98B | 1&7? TEmER = #20.0 4.6 B 1
105|828 98B |[kLF | LHAZ = #18.0 |5%X5.6 REREE 4
106/ 28E 98B | #&7? TEmE L #16.2  |E4.0 ICRWEEE 1
107 a8E 98B |#&7 LhAgR = 7%8.9 ICAVVEE 1
108|228 98B |[kLF | LHAZ = 5%0.9 #11.6 REREE 1
109|28E 98B | #&7? TEmE INRUEE #9.0 7%3.5 ICRWEEE 1
110/88E 98B | 1&7? i INRUEE 111 |E4.1 ICXEE 1
111 /a8E 98B |#7 TEmE 7 #11.6  |J&5.7 ICRWNEEE 1
112|8&E 98B | #&7? TEmE = 7%5.8 5 KBt 9
113/88E 98B |FL>F | Ll E #14.0 |5%4.0 ICRWFRBE 3
114/a8E 98B |FLvF | tHAE HsiF2E 18.4 7%5.3 EERBE 5
115/ 88E 98B [bLoF  |EEEH wE 11.9 %4.4 BIREREBE 3
116/ 28E 98B |bLF | EEE wE #14.0 |#%3.3 Bk 2
117|NR1001 | 98C |NRO1 TEmE BitE #17.5 |5%33.0 ISR MEE ?
118|28E 98C EYTIF |LEmes = #18.8 |#%6.4 ISRV EE 4
119|2&E 98C [BYTIF | Lhmgs E #15.6 |7%6.5 LRV EE 4
120|128 98C |#&? ThhgR ] #17.0 |5%6.0 ICAWNESE 4
12188 98C | &t TEmE = #15.6 |#&5.0 ICRNEBE 1
122|988 98C |FgEE LhAgR BITE 7%4.3 #11.0 |BAEHEE 1
123|182 &8E 98C |IBYTIF |LHmgs ] 5%3.3 6.7 Be 1
124|818 98C |Fgks TRnER L 7%6.9 ICRWEEE 1
125|SEO1 98B |SK171 |RiRE 3 #17.2 |5.6 7.6 KBt 1
126|SEQ1 98B |SK171 |RiRE B #16.2 |5.5 7.4 KBt 3
127|SEO1 98B |SK171 |EiRE (L% Bi #15.4 |5.5 #7.4 KBt 2
128|SEO1 98B |SK171 |BiRH e #16.8 |7%4.3 KB 1
129|SE01 98B |SK171 | EiEE 3 7%3.5 8.2 BA{BIK & 1
130|SEQ1 98B |SK171 |EiRE e 4.0 7.678.0 |[kEfa 1
131|SEO1 98B |SK171 |BiRH e 7%4.8 #7.8 kBt 1
132|SEO1 98B |SK171 |RiRE 3 7%3.2 6.877.6 | [k@Ef 2
133|SEOQ1 98B |SK171 |EiRE (L% Bi 7%3.9 8 KBt 1
134|SEO1 98B |SK171 |RiRE B3 7%4.0 7.2?7.5 |#IKkE 1
135|SEQ1 98B |SK171 ERE B %3.4 #7.8 KBt 1
136|SEQ1 98B |SK171 |EiRE (L% Bi 3.4 7.5 ICRWEEE 1
137|SEO1 98B |SK171 |BiRH e 7%3.1 #8.0 KBt 1
138|SEOQ1 98B |SK171 |RiRE 3 7%4.0 #7.2 KBt 1
139|SEOQ1 98B |SK171 |EiRE (L% Bi 7%3.1 #8.4 KBt 1
140|SEO1 98B |SK171 |BiRH e 7%2.5 #6.4 KBt 1
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142|SEO1 98B |SK171 |ERE IS %2.7 #7.0 KB & 1
143|SEO1 98B |SK171 |EiRE g3 %3.2 #8.0 KB & 1
144|SEO1 98B |SK171 |BiRE I%RBE 7%2.3 #7.6 KB & 1
145|SEO1 98B |SK171 |ERE IS 7%2.6 BIxE 1
146|SEO1 98B |SK171 |EiRE g3 %2.3 #7.8 IREE?EKE 1
147|SEO1 98B |SK171 |BiRE I%RBE %3.0 6.8 KB & 1
148|SEO1 98B |SK171 |ERE IS 7%2.6 #9.2 7=k 1
149|SEO1 98B |SK171 |EiRE B %2.5 5.6 KB & 1
150|SEO1 98B |SK171 |BiRE /M #9.8 3.3 #£5.6 KB & 1
151|SEO1 98B |SK171 |ERE 2 27.3 10.9 13.5 ICRNVEEE 6
152|SEO1 98B |SK171 BiE PE #24.4 583 R 1
153|SEO1 98B |SK171 B8 g #30.6 |5%9.6 [CAWNEE 1
154|SEO1 98B |SK171 TETsR REARISR | #£24.8 | 5%8.9 REE 4
155|SEO1 98B |SK171 i m %2.8 7.8 Bt 1
156|SEO1 98B |SK171 LEngR m 4.8 KB & 1
157|SEO1 98B |SK171 Big g %7.4 RG] 1
158|SEQ02 98C |SK16 BiRE g3 2.5 7 KB & 1
159|SEQ02 98C |SK16 AE? NEE #10.0 [543 B 1
160/SD02 98A |SD41 BiRE IS 7%2.5 #7.6 KB & 1
161/SD03 98A |SD42 i MRS 7%5.6 #5.8 ICXRNEE 1
162|SD03 98A |SD42 EBRE I%RBE %4.2 4.3 KB & 1
163/SD08 98A |SD16 AR i 7%1.5 KB & 1
164/SD20 98A |SD15 BiRE /hI #10.0 |%1.7 IR& 1
165/SD20 98A |SD15 ERE I%RBE %1.9 #7.8 IRE&a 1
166/SD23 98A |SD27 BiRE IS 7%2.0 #8.0 KB & 1
167/SD28 98A |SD31 BiRE R Og 7%3.3 R 1
168/SD35 98A |SD32 IR B 7%1.8 #7.2 KB& 1
169|SD35 98A |SD32 IR B 7%5.3 #7.0 KB & 1
170/SD35 98A |SD32 BiRE g3 #14.0 |5£3.2 KB & 1
171/SD38 98A |SD0O5 EBRE /M 7.4 1.8 4.5 KB& 3
172|SD42 98A |SD35 BiRE IS 7%2.3 8.6 KB & 1
173/SD44 98A |SD41 BiRE g3 ®2.7 KB & 1
174/SD45 98A |SD0O8 EBRE /M 7.9 2 4.4 KB& 1
175/SD51 98A |SDO7 ERE 1L ZHE #16.0 4.4 7.8 KB & 1
176/SD51 98A |SDO7 ERE eSS 15.8 5.5 6.8 KB & 1
177/SD52 98A |SD09 ERE I%RBE 2.1 #£8.8 ICAVNVEEE 1
178|SD55 98B |SD83 BiRE I3 7%2.2 #6.0 KB & 1
179/SD55 98B |SDO5 BiRE g3 7%1.8 7.6 KB & 1
180/SD55 98B |SDOS5 EBRE /M #£6.7 1.5 #4.4 =] 1
181/SD55 98C |SD09 AR w5 7%3.0 FIKE 1
182|SD55 98C |SD09 BE HEA #13.4 110.4 #4.7 IR& 3
183|SD55 98C |SD09 L 755 7%9.7 KB& 1
184|SD57 98B |SD03 FitE ¥R mi12.4 |E1.8 KB & 1
185|SD57 98B |SD03 FitE AR BR7.2 |%Rm7.4 |E2.3 KB & 1
186/SD57 98B |SD0O3 TEmeR BHE 7%£6.6 [CAVNEE 1
187/SD57 98B |SD03 BRER % 7%6.6 BIKE 1
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189/SD67 98B |SD76 BRER NER #19.0 |5%4.5 KB & 1
190/SD69 98B |SD88 [X #5285 ik #13.8 |5&1.5 =] 1
191/SD71 98B |SD102 |EBiRE I%RBE 7%1.6 #8.4 KB & 1
192|SD71 98B |SD102 |ERE g3 #12.2 |5%3.9 KB & 2
193/SD71 98B |SD102 | tkmgk FRERA H17.0 5%2.2 ICAWERE 1
194|SD74 98B |SD81 EBRE /M #8.6 1.8 #5.8 =] 1
195/SD81 98B |SD37 TR IKFTWE | #15.8 |5%4.6 KB & 1
196/SD81 98B |SD37 BRER [ 3 E0 M %1.3 #7.6 KB & 1
197/SD81 98B |SD82 L w5 7%3.3 #12.0 |Ik& 1
198/SD81 98B |SD37 TETsR z #14.6 |5%5.0 ISR E 3
199/SD81 98B |SD82 i NEH #20.4 |5%1.6 REE 1
200/SD84 98B |SD74 TEmeR NEH #28.4 |5%6.4 [CAWNEE 1
201/SD84 98B |SD72 TETsR NEH 7%7.5 ISR E 1
202/SD84 98B |SD74 i NESR #34.0 |5£8.5 [CAWEE 7
203/SD84 98B |SD74 TEmeR NEH #33.6 |5%4.2 [CAWNEE 1
204/SD84 98B |SD74 FHE ¥R RR8.9 |#mM10.5 E2.0 KB & 1
205/SD87 98B |SD26 BiRE eSS #13.9 |#%3.8 BIRE 1
206/SD88 98B |SD25 ERE I%RBE #13.8 |5#%4.0 HIRE 1
207/SD88 98B |SD25 BiRE IS 7%4.1 IR& 1
208/SD89 98C |SD28 AEER w5 #10.0 |52.2 IR& 2
209|SD89 98C |SD16 AEd w5 7%2.5 #6.8 IRE&a 1
210/SD89 98C |SD16 EE it %1.7 #14.0 |FRE 1
211/SD89 98C |SD16 o #A #12.2 3.8 #5.0 BIRE 3
212/SD89 98B |SD42 HER BiA 12.2 4.3 5.8 B 4
213/SD89 98C |SD16 EE ZH %7.4 BIXE 1
214/SD89 98C |SD28 i = %1.9 #4.8 =) 1
215/SD89 98C |SD28 TEmeR 10 7%4.9 #4.9 KB& 1
216/SD89 98B |SD42 TETsR fE% 7%1.9 ICRNWVEEE 1
217/SD89 98C |SD28 o RfHEE? 7%5.2 IR& 1
218/SD89 98C |SD28 TEmeR z #17.6 |5%3.9 =] 1
219/SD89 98C |SD28 TETsR L3 %2.4 #9.0 Bt 1
220/SD89 98B |SD42 ERE /pm 7.7 2.3 4.1 KB & 1
221/SD89 98B |SD42 ERE /M 7.9 1.872.0 4.7 KB& 1
222/SD89 98B |SD42 BRER fE 4 m #10.7 |5%2.6 KB & 1
223/SD89 98B |SD42 BRER &5 7%4.6 IR& 1
224/SD89 98B |SD42 TEmeR NEH #22.3 |&7.0 REE 1
225/SD91 98B |SD27 TETsR z #15.3 |5%2.5 ICRNVEGE 4
226/SD96 98B |SD45 FE =LA %1.9 =] 1
227/SD96 98B |SD45 TEmeR tE 7%3.3 EEEE 1
228/SD96 98B |SD45 AR AV 7%8.1 =) 1
229/SD98 98B |SD20 i it 4.4 m1.0 E1.0 ICAWEBE 1
230/SD102 98B |SD17 EBRE /M #7.7 1.9 #5.5 =] 1
231/SD102 98B |SD17 LhAzs m #6.6 1.7 #3.6 BIKE 1
232/SD104 98B |SD70 i NESR #24.4 |5£9.2 [CAWEE 3
233/SD108 98B |SD30 ERE I%RBE 7%3.3 #5.4 KB& 1
234/SD110 98B |SD43 BiRE g3 #14.7 |5£3.5 KB & 1
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236/SD120 98C |SD22 LhAzs m 7%2.0 #8.0 KB & 1
237/SD120 98C |SD22 i NEH #19.2 |5£3.8 =] 1
238/SD129 98C |SD04 TEmeR 10 5.4 B 1
239/SD129 98C |SD04 X a5 Bi 15 4.1 7 KB & 2
240/SD129 98C |SD04 BiRE g3 %2.9 #6.4 KB & 1
241/SD132 98C |SD13 AE? #h #13.8 |5£3.5 B 1
242/SD132 98C |SD13 BiRE IS 7%2.3 #7.0 BIxeE 1
243|SD136 98C |SD18 o #A 7%3.6 ZEEE 1
244/SD136 98C |SD02 EBRE I%RBE 3.7 6.2 KB & 1
245/SD134 98C |SD19 AR = #13.6 3.9 #10.0 |FKRE 1
246/SD134 98C |SD19 o RE #£8.2 7%6.1 IR& 1
247/SD134 98C |SD19 L = i 7%8.2 IR 1
248/SD134 98C |SD19 EE it 7%1.4 IR& 1
249/SD134 98C |SD19 o w5 #12.4 (3.4 #7.0 rBe 3
250/SD134 98C |SD19 TEmeR z #17.4 5243 [R#Et 17
251/SD134 98C |SD19 TETsR z #18.0 |#5.0 ICRNWVEEE 1
252|SK016 98A |SK09 BRER b ®5.4 #12.0 |kB& 1
253/SK045 98A |SK115 | thmg m #7.6 %2.2 KB & 1
254/SK045 98A |SK115 |ERE IS %2.4 #7.4 IRE&s 1
255|SK045 98A |SK115 |7EE&# w2 7%5.6 REE 4
256/SK056 98A |SKO7 HRER 1258 ®2.7 EEEE 1
257/SK056 98A |SKO7 BRER PR Hh D 7%1.4 7 KB & 1
258|SK064 98A |SK162 | EiRE /pm 8.3 2.2 4.7 KB & 1
259/SK083 98A |SK158 |7EE# w5 12 [CAVNFRBE?FRER | 1
260|SK098 98A [SK163 | ERE IS 7%3.8 #7.6 KB & 1
261|SK117 98A |SK33 i = #12.0 |3#%10.8 ICAWERE 2
262/SK128 98A |SK125 |ERE I%RBE 7%2.5 #9.6 KB& 1
263/SK128 98A |SK125 |HEER AT 7%4.8 kBt 1
264/SK137 98A |SK151 TEmZR NESR 7%1.8 =] 1
265/SK138 98A [SK155 |EBiRE I%RBE %3.1 6.6 HIRE 1
266/SK139 98A |SK10 BiRE g3 #15.2 |5%3.6 KB & 1
267|SK142 98A SK172 | ERE (M%) |WLFKH #%1.5 #6.9 HIKE 1
268/SK153 98A |SK131 |ERE I%RBE #14.2 |%3.4 KB& 1
269/SK162 98A |SK167 |ERE Bi #14.0 |%2.8 KB & 1
270/SK176 98A [SK139 |ERE eSS 13.2 4.6 5.6 KB & 1
271/SK179 98A [SK144 |EBRE I%RBE 7%2.5 #7.2 KB& 1
272/SK183 98B |SK347 |ERE g3 #11.8 |5%3.3 IR& 1
273|SK331 98B |SK450 |ERE g3 #14.8 |&5.0 =] 2
274/SK155 98B |SK230 | LEmgR e ] £4.3 m1.0 E1.0 KB& 1
275/SK373 98B |SK418 | IkfhiEss Bi 7%£2.6 #7.6 KB & 1
276/SK406 98B |SK36 BiRE g3 7%3.3 #6.0 KB & 1
277/SK419 98B |SK54 TEmeR z #27.0 |5%4.0 EEEE 1
278/SK450 98B |SK125 |#FXR /pm #£5.5 1.2 3.4 Bt 1
279|SK450 98B |SK125 |#FXER KEZBE (#10.8 |5%3.0 =] 1
280/SK450 98B |SK125 | tEmgR NEH %2.0 =] 1
281/SK450 98B |SK125 |#FXR igRL  (#20.0 |5%4.5 #12.0 |REE 1
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283/SK456 98B |SK156 | EiRE IS %1.1 #5.0 KB & 1
284/SK486 98B |SK160 | #FXR HRF (R %4.2 #10.8 |IkBE& 1
285/SK486 98B |SK160 | #FZER LRERABE |#11.2 6.4 6.4 KB & 4
286/SK490 98B |SK486 |ERE g3 #16.2 4.6 #9.0 KB & 1
287 ,SK491 98B |SK28 BRER 5 R B %2.2 4.4 ICRWVEEE 1
288/SK491 98B |SK28 HBPEER 1258 %3.1 ICAVWVEEE 1
289/SK491 98B |SK28 HPER m(=)EE 7%6.9 IR& 1
290|SK504 98B |SK26 BiRE g3 1.6 7.878.0 |IkBE& 1
291/SK511 98B |SK102 |EBiRE /M 7.8 2.2 5 IR&EE 3
292|SK515 98B |SK110 | LEmgk z #17.8 |#%3.0 EEEE 1
293|SK532 98B |SK142 | #FXER fefh 3.0 #6.0 REE 1
294/SK559 98B |SK113  |EE# BiA #15.4 4.5 7.2 BAfBIK & 2
295|SK559 98B |SK113 | ERE IS #14.2 |4.8 6.2 KB & 1
296|SK559 98B |SK113 | ERE g3 #14.8 |%4.4 =] 1
297/SK559 98B |SK113 | ERE I%RBE #14.0 |5%3.5 =] 3
298|SK559 98B |SK113  |ERE IS 7%3.1 7.6 KB & 1
299|SK572 98B |SK135 |#FXER NESR #16.0 |#%3.9 ICAWERE 1
300/SK573 98B |SK132 | LEmgR NEH 7%5.1 =] 1
301/SK584 98B |SK114 |#FXE 125 #30.6 |5%6.6 Bt 2
302|SK585 98B |SK121 |EE&# BiA #12.0 3.8 5 IR& 1
303|SK585 98B |SK121 |#FER #Hm/ M 10.6 2.8 5 PR=]=] 1
304|SK585 98B |SK121 | &i& i #30.0 |5%13.4 KB & 1
305/SK588 98B |SK18 iR chgk %4.1 #15.8 |kBE& 1
306/SK608 98C |SK24 TEmeR m %1.9 #5.4 EEEE 1
307/SK619 98C |SK02 otk = #10.0 |5%2.5 KB & 2
308|SK619 98C | SKO2 EERTE g3 %2.2 5.6 =] 1
309/SK619 98C | SK02 fictic) PE %8.4 EEEE 1
310/SK382 98B |SK10 LhAzs m #7.8 7%1.2 ISR E 1
311/SK382 98B |SK10 BiE PE 7%5.9 =] 1
312|SK384 98B |SK04 AEAIRE R pak’ #12.0 |#%3.8 =] 1
313/SK400 98B |SKO5 BiRE IS 7%1.9 KB & 1
314/SK402 98B | SKO1 BRER m(=)EE #6.1 7%4.5 =] 1
315/SK403 98B |SK14 HBPEER &IF #11.2 |5%4.6 REE 1
316/SK397 98B |SK169 |#F(F#E) |h#k #22.2 9.4 #12.8 |REE 1
317/SX06 98B |SX06 BRER REZH %2.8 =] 1
318|SX06 98B |SX06 FEERE B 3.7 =] 1
319|SX06 98B |SXO01 TEERE B 7%3.4 KB & 1
320|SX06 98B |SX06 BiE Z %4.7 =] 1
321/SX06 98B |SX06 HBPEER #igRIL 7%6.0 EEEE 1
322/SX06 98B |SX06 LhAzs FFSRA 7%1.9 EEEE 1
323|SX06 98B |SX06 i GIEEES D) %2.0 =] 1
324/SX06 98B |SX06 TaEng m #10.2 |1.5 #6.2 IREBE 1
325|SX06 98B |SX06 BRER PNCES 7%1.0 #4.0 KB & 1
326|SX06 98B |SX06 i EAR %&K3.3 |m3.5 E3.5 REE 1
327/SX06 98B |SX06 ERE [N K2.2 2.0 E2.0 =] 1
328|SX06 98B |SX06 BiRE [N R2.4 2.4 E2.3 KB & 1
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330/SX06 98B |SX06 BiRE [N R2.4 h2.2 E2.2 KB & 1
331/SX06 98B |SX06 i ARk ) #20.0 |5%1.8 ICAWERE 1
332|SX06 98B |SX06 FHE AR %®K4.3 |EM4.0 |E1.3 =] 1
333|SX06 98B |SX06 FHE ¥R %R4.4 BmS5.7 E1.9 KB & 1
334/SX06 98B |SX06 FitE ¥R %&6.3 |%&mM9.2 |E1.9 =] 1
335|SX06 98B |SX06 FHE TR %K8.9 |%&MS5.9 E1.6 =] 1
336/SX11 98B |SX09 ERE (%) | WEH 13.6 5.1 6.4 KB & 10
337/SX11 98B |SX09 ERE (HF) | ILZFREE #12.6  |5.5 #5.4 KB & 5
338/SX11 98B |SX10 BEREGER) | LA #12.4 |5.1 #5.0 =] 1
339/SX11 98B |SX09 BREGER) | WLFRHE 7%3.8 KB & 2
340/SX11 98B |SX09 BiRE eSS #14.6 |53 #5.8 =] 1
341/SX11 98B |SX10 ERE I%RBE %2.1 #£8.6 B 1
342/SX11 98B |SX10 BiRE N #10.4 3.2 5.8 kBt 1
343/SX11 98B |SX09 BiRE /pm 7.4 1.9 4.2 KB & 1
344/SX11 98B |SX09 FERER =LA %2.1 6.4 KB & 1
345/SX11 98B |SX09 BRER B #12.0 |5%3.5 KB & 2
346/SX11 98B |SX10 o P ®2.7 8.6 =] 1
347/SX11 98B |SX09 TaEng m #£8.6 7%1.5 =] 1
348/SX11 98B |SX10 AR NnJ9 %7.9 KB & 1
349 /SX11 98B |SX10 [X #5125 # %2.9 =] 1
350/SX11 98B |SX09 TEmeR 3 %3.1 IR&EE 1
351/SX11 98B |SX09 LhAzs FFSRA 7%3.0 KBE&EKE 3
352|SX11 98B |SX10 i it £&4.7  |m1.5 E1.4 =) 1
353/SX11 98B |SX10 TEmeR z #15.8 |5%6.0 ICRNVEEE 4
354/SX11 98B |SX09 FHE AR %K7.8 |%M69 E1.4 KB & 1
355|SX07 98B |SX07 o w5 #12.2 4.2 6.1 =) 4
356/SX12 98B |SD0O6 ERE I%RBE #12.8 |5£4.5 =] 2
357/SX12 98B |SD06 BiRE IS %2.1 #6.2 KB & 1
358/SX12 98B |SDO6 BiRE g3 ®1.4 #7.4 KB & 1
359/SX12 98B |SDO6 EBRE /M 7%1.0 4.3 =] 1
360/SX12 98B |SD06 BiRE IS 7%4.6 KB & 1
361/SX12 98B |SDO6 BiRE /hI #8.3 1.6 #5.8 =] 1
362/SX12 98B |SDO6 ERE /M #8.6 1.271.8 |#5.0 =] 1
363/SX12 98B |SD06 BiRE /pm 8.4 2.1 5.2 XZEE 1
364/SX12 98B |SD06 i NESR ®3.7 IRE#EE 1
365/SX13 98B |SDO1 ERE I%RBE 7%3.8 #9.2 HIRE 1
366/SX13 98B |SX01 LhAzs m #10.6 2.2 #6.8 ICRNVEEE 1
367|SX13 98B |SXO01 B Ei5H %3.2 =] 1
368/SX13 98B |SX02 EBRE /M 7 1.8 3.8 IR&EE 1
369/SX13 98B |SXO01 TETsR EANE ) #26.5 |&2.7 =) 1
370|SX13 98B |SXO01 FitE AR K39 |%&me4 E1.4 IR& 1
371/SX13 98B |SXO01 FHE TR %f&4.8 |B&M6.5 |E2.1 KB& 1
372|SX13 98B |SXO01 FitE AR BR3.2 Em44 E1.1 KB & 1
373|AERE 98A [#&7 AEH w5 #10.8 |5%2.9 [x#Et 1
374/ A8 98A |1&? AEd W& 7%3.8 HIRE 1
37598 98A [#&7 EE it 7%1.6 9 RE?EIRE 1
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377288 98A |17 ERE IR 5%2.9 7 =)= 1
3782 8E 98A |SDO1 EREN (%) | LA 7%2.2 6 Pq=]=) 5
379188 98A |#? ERE B3 %2.7 6 Pq=]=] 1
38012&8E 98A [FL2F | BiRE IR 5%2.7 #7.8 =)= 1
381 Q8B 98A |#&? Riel B 7%1.9 #6.0 Pq=]=) 1
382 AEE 98A |#? EiRE L& wE #13.8 |2.7 #£8.2 K 1
383|448 98A |#&7? EIER NI 7.8 2.3?2.5 |4.4 KB 1
3840 8E 98A |#&? B = 7%3.5 k€& 1
38528E 98A |[bLF | BH B 7%2.3 Pq=]=] 1
386 28E 98A |17 B MEE 7%2.2 =)= 1
387 |2 8E 98A |#&7? BERE 1A 7%2.4 BA)—TIRE 1
388|28E 98A |#? E0H B 7%2.5 Pq=]=] 1
38928E 98A |17 B Figw 7%2.3 =)= 1
39028 98A |#&? BERE 1A 7%2.2 k€& 1
391 BEE 98A [#&7? =1 B %2.4 BR18IK & 1
392 BEE 98A |17 B i 7%3.0 =)= 1
3931 98B 98A |#&? HPXE PR R 7%3.0 Pq=]=) 1
394 BgE 98A |#? HFEER #hEE 7%5.6 Pq=]=] 1
395 a8E 98A |17 HFXER fEh BRAE2.0 =)= 1
396 EE 98A |#&? HPXE FaA BRAE2.2 Pq=]=) 1
397 BEE 98A |#? T EmzE IE BAR2.6 mAM2.5| ZKE2.3|1BKE 1
398/@&8E 98A |17 L hnzEs it EER1.9 ICAWERE 1
399 88E 98A |#&? ThhgR it %m2.4 2.3 EE1.2 kB8 1
400 B 98A |SDO1 TERER m 14.9 3.9 6.8 Pq=]=] 37
401 &R 98A |17 L hnzEs m 7.8 1.8 5.8 Be 3
402\ B EE 98A |#&? ThhgR m 7.6 1.3 5.8 Pq=]=) 1
403 B 98A |[bLF | LhfgR m 7%1.3 6.8 Pq=]=] 1
404 BEE 98A |rLF | LEAER m #8.6 7%1.6 IZAMEE 1
405 9 98A |#&? ThhgR 3 5%3.9 EEA 1
406 B 98A |#? i) A 5%5.2 EIKEEIEIKE 1
407 &R 98A |17 L hnzEs by ik 7%2.6 KEE? 256 1
408 BIgfE 98A |#&? ThhgR g ik 7%2.5 FRIREACKRNFEBE | 1
409 B 98A |#? & XEF 7%6.0 Pq=]=] 1
4103 8E 98A |17 L hnzEs g 5%5.9 ICRVWRIGE?BIKE | 16
411\ 8E8E 98A |#&? ThhgR CAEEERT %1.7 XEBE 1
412 B8R 98A |#? T EmzE FANE) #24.0 |5%2.8 Bk 1
413/ 3ERE 98A |17 L hnzEs it £4.5 RAE.2 ICAWERE 1
4148 EE 98A |#&? ThhgR k£ EBRS5.7 |&mA®E1.3 Pq=]=) 1
415 98 98A |#? T EmzE T8 £8.9 mAE2.3 Pq=i=] 1
416/ 3ERE 98A |17 B Chik #40.0 |5%13.0 BAAEE 1
417 |3EE 98A |#&? j5} BE? KBt 1
418 B8 98A |#? B AE Pq=i=] 1
41998 98A |17 E AR =)= 1
42098 98A |#&? B R Pq=]=) 1
421 BERE 98A |#? o R Pq=i=] 1
422 BERE 98A [rLF  |E FR =)= 1




424 Q8B 98B |SK89 EE t 9.2 4.7 R 1
425 BEE 98B |1E#$ e BiA #12.0 |5%4.9 R 1
426/ AEE 98B |SX14 ERE I3 #15.6 |5.3 #6.0 =] 3
427 AEE 98B |SK39 BiRE g3 %2.7 #8.2 KB & 1
428 BEE 98B |SK56 ERE eSS #16.6 |5.2 #8.2 =] 2
429/ B8R 98B |SX14 ERE I%RBE %2.1 6.8 =] 1
430/ B8E 98B |SX14 BiRE g3 7%1.8 7.6 KB & 1
431 AEE 98B |SD15 ERE (HF) | ILZFREE #12.6 |5%3.5 =] 2
432 8B 98B |SK105 | ERE I%RBE 7%2.3 #7.8 =] 1
433/ ABE 98B |SD44 BiRE g3 #12.8 |5.7 #ES.1 KB & 2
434 AEE 98B |SD44 ERE eSS #13.0 4.9 #4.6 =] 1
435/ B8E 98B |SD15 ERE I%RBE %2.7 =] 1
436/ B2E 98B |SD15 BiRE g3 Q #6.6 KB & 1
437 AEE 98B |SD15 ERE g3 1.6 #4.9 =] 1
438 BEE 98B |bL>F  |ERE I ZRBE? %1.0 =] 1
439 @&E 98B | & ERE /pm 8 2.4 3.9 KB & 1
440 B 2B 98B |SD29 ERE /pm #£8.1 1.5 #5.6 =] 1
441 BEE 98B | SK55 ERE /M #7.8 1.7 #4.8 =] 1
442 Q8B 98B |SD15 BiRE /pm #7.9 1.5 #4.5 kBt 2
443 BEE 98B |SD87 BRER BHAN ¥%2.2 #11.0 |ke& 1
444 2B 98B |SX14 fictic) i 7%8.8 [CAVNEE 1
445 Q8B 98B |hL>F | Lhfizs MARERA #21.6  [%2.9 IRBEE?EKE 1
446 BEE 98B |hL2F | EENEE |E #38.0 |5%4.2 ICAWERE 1
447 BEE 98B |#&7? TaEng g B®R3.3 |M1.3 E1.2 [CAVNEE 1
448 AEE 98B |RIFE HBFER HRFER 7.7 KB & 1
449 BEE 98B |1&? i Z #25.2 | %3.7 RBEICAWVEE 1
450/ B8 E 98B |SX14 TaEng z #25.6  |5%9.3 [CXWEEE 3
451 Q8B 98B |SX14 FHE ¥R BR4.9 |BEM29 E2.7 KB & 1
452 AEE 98C |bLoF  EEs W& 10 3.1 =] 2
453 | BEE 98C £+ AEd W& 7%1.6 HIRE 1
454 Q8B 98C |hLoF  |EEz i %2.7 #10.0 |kEE 1
455 288 98C £+ AEH HEA %1.9 #6.6 IR& 1
456 BEE 98C |hL>F  |AEES BiA 7%1.6 4.9 IR 1
457 Q8B 98C |1&? EE #A 7%1.4 5.7 [CAWEBE 1
458 BEE 98C |bLoF  EEs w5 #12.6 3.7 6.8 BIRE 3
459 28E 98C |bL>F | L0 Hi #14.0 [#5.0 EEEE 3
460 BEE 98C |1&? EE % 7%3.4 5 =) 1
461 AEE 98C £+ [XHPa2s Bi %2.9 #7.5 =] 1
462 BEE 98C |bLrF | IxHhFEZs Bi 7%3.3 #7.4 =] 1
463 AEE 98C |1&? EE B 7%2.6 6.4 =) 2
464 AEE 98C #BYTIF |IkxFhFEER"? = 7%3.5 #8.2 BAtEIK 1
465 2EE 98C |#&7? AEd P 7%3.1 BIRE 1
466 AEE 98C |1&? R 1k R #12.2 |5%1.2 KB & 1
467 AEE 98C £+ AEH 72 A3%E ¥%4.5 REEE 1
468 BEE 98C {t& AEd =? 7%5.8 =] 1
469 BEE 98C |1&? P ER {hEn g 7%2.3 4.8 KB & 1
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] 1
472 AEE 98C | k%7 e i #8.0 5.0 =] 8
473 BEE 98C rmEE AEd 23 #10.0 |5£3.3 B 1
474 Q8B 98C |1&? B NYDPE 7%4.0 IR& 1
4752 8E 98A [#&7 AR %] 6.4 1&84.0 E1.8 1
476/SD110 98B |SD43 a8 %) £4.0 1&84.0 1.6 1
477/SD104 98B |SD70 AR ] K10.3  |1&4.2 E2.4 1
478|SD57 98B |SD03 AR %] 5.8 1&3.7 E2.6 1
479|SX13 98B |SXO01 a8 %) K5.6 1&5.8 E3.7 1
480/SD89 98C |SD28 AR ] £7.3 1&6.7 [E4.5 1
481 AEE 98C |1&? AR %] £4.1 1&3.5 E1.7 1
482|SX13 98B |SXO01 a8 %) 5.0 1&3.0 E1.4 1
483|SD121 98C |SDO7 AR ] £5.0 1&4.1 E1.1 1
484|SX13 98B |SXO1 AR =1 3.3 1&3.0 E1.0 1
485/SK559 98B |SK113 | AH& Al £10.4 |1&@4.5 E1.0 1
486/SX13 98B |SXO01 S BE £2.5 1&2.5 0.1 1
487|SX06 98B |SX06 & #E K2.4 1&2.4 0.1 1
488|SX06 98B |SX06 S #E £2.4 1&2.4 [£0.1 1
489|SX06 98B |SX06 S BE £2.5 1&2.5 0.1 1
490|SX06 98B |SX06 & #E £2.5 1&2.5 0.1 1
491|SX06 98B |SX06 S #E £2.4 1&2.4 [£0.1 1
492 &R 98B | &7 BT #E R2.5 1&2.5 [£0.1 1
493 BEE 98B |#&7 b #E £2.5 1&2.5 0.1 1
494/ 28R 98B |#&? piJETT IR £7.4 1&1.3 0.2 1
495|SX06 98B |SX06 S ] R7.7 #80.5 £0.1 1
496 BEE 98B &kt b FEERO |K15.8 |i&@1.2 E1.2 1
497|SX13 98B |SXO01 &M 71¥? K10.3  |1&1.3 £0.3 1
498 AEE 98C |#EYTIF |#Em J1F? £5.0 1&2.1 E1.1 1
499 BEE 98A [#&7 A& tath K5.2 1&2.9 E1.2 1
500|SE02 98C |SK16 A& 57 #41.8 |23.2 #41.8 1
501/SEQO1 98C |SK171 | KR&& R #43.8 |16 #43.0 1
502|SEO1 98C |SK171 | A& iR %10.6  |#46.4 1
503|SEO1 98C |SK171 | KR&E& 57 #46.8 |19 #46.8 1
504|SEO1 98C |SK171 | KR&& RG] #44.0 |25.5 #44.0 1
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